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TEST NO. 1
CASE - GEOTEXTILE 4-30-60

STEP 1 ASSUME F.S.

189

IF CHOOSEFS.= 1.6
) = 397
1.6 = tand) = tam39.7
tm¢m tand)m
d}m = 2752  Degree
STEP2 DRAW FORCE DIAGRAM TO FIND FORCE(T&)
Tx B = 40  Degree
h = 115  cm.
W y - 167 gem
R Q = 2530000 g
q = 107" gow
B+om = 6752 T = h*anP(yh+29) = 82358.56
2* tan(Pm + [3) 483
= 1704425 ghm

STEP3 FIND Tresisune FROM SUM OF Pi i=(1-4)
FOR ' P
IF Lbl = 0 om.
Zl = 30 om.
Pl

= 2*tan(pe*Lbi*(YZi+q)

= 0.00 * tan(lpe g/cm



IF L2 = 7 om.

2 = 60 cm

P2

IF Lb3 = 30 em.

3 = 90 ¢m

P3

IF L4 = 0 om

4 = 120 cm.

P4

SO Twsme =  PI+P2+P3+P4

STEP4 FROM TEST IN LABORATORY ()]
e

tne =

i) =

fb =

SO tand,)e y }

STEP 5

Tresisunce . =

34894.00 * tane

tan(l)e

= 603287 * tandpe

= 2886114 * tan(pe

= 0.00 * tand)e
= 3489400 * tan{e
= 39.7
= 379
b tan(p
tane =  0.77848
tand) 0.83022
0.94
0.94 tang)
Tr
17044.25
0.49

g/em

190



191

FROM Eq. @ tande = 0.94 tand) = o0
tnp = 052 |
o = 2752 Degree

STEP 6 COMPARE ¢ WITH Om

om
2752 = 2182 OK.......
SO tanQem = 0.94 tan{m = 094* ' tan 27.52

o
g
!
X3
2
3
g
8
9
7



TEST NO. 3
CASE GEOTEXTILE 4-30-80

STEP 1 ASSUME F.S.
IF CHOOSEF.S. = 1.7

() = 397
N, = tand = tan39.7
tan@irm tan(m
fm = 2615 Degree
STEP2 DRAW FORCEDIAGRAM TO FIND FORCE (X=Tr-P)
FIND X
X B 3 45  Degree
h = 115 cm.
W ¥ = 6T gem
R Q = 4730000 g
q = 61830 gim
hl = 55 cm,
B+dm = 7115 h2 = 60 o
b = 15 cm.
X = W =
tan(@m + 3)

X = 1957854 g/om

5733192

2,93

192



FIND P
v v v ¥
P
h
b >
K =  tan'(45- Gm2)
= 039
SO Tr = X+P
= 3514950

STEP3  FIND T FROM SUM OFPi  i=(1-4)
FOR

Pi
IF Lbl = o
1 = 30 om.
P1
IF Lb2 = 5 e
2 = 60 cm.
P2
IF Lb} = 45 " ém.
3 = 9 cm.
P3 Q
IF Lb4 = ¢ om.
4 = 120 cm.
P4 =
SO Twimuw =  PL+P2+P3+P4 -

193

= K*((0.5Y*h2)Hq*h2)

= 1557096 pfem

g/em

= 2*tan{e*Lbi*(YZi + @)

= | 0.00 * tan¢e g/cm

7185.007 * tanfe  glom

6917406 * tande p/cm

000 * tanfhe g/om

76359.07 * tanfe  g/om
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STEP4 FROM TEST IN LABORATORY o - 39.7
¢e = 319
tande = t tand
b = tanPe = 077848
tan) 0.83022
b = 094
SO tande = 0.94 tan{) 4—®
STEP 5
Tresiataace = Tr
76359.07 * tne =  35149.50
tan¢e . 0.46
FROM Eq. @ tnde = 0.94 tand) = 046
tan) = 0.49
i) = 2615  Degree
STEP 6 COMPARE ¢ WITH @m
om - b
2615 = 2615 ... OK.......
SO tanem = 0.94 tanQm - 094* tan 26.15

Gem = 2477 Degree OK......



TEST NO. 4
CASE  GEOTEXTILE 6-20-60

STEP 1 ASSUME F.S.
1F CHOOSEE.S. =

() -

1.9

39.7

19\\// /5 tan() = tan39.7
tan¢rm tan{m

Om = 2381  Degree

STEP2 DRAW FORCE DIAGRAM TO FIND FORCE (X=Ta-P)

FIND X

B+dm = 6151

B - 38 Degree
h = 120 cm.
¥ = 1§ gem
Q = 3530000 g
g =~ 46144 glem'
hl = 60 cm.
h2 = 60 cm.
b = 71 cm.
X = W Y
tan((l)m + ﬂ)

X = 2381649 g/em

44435.39

1.87

195



FIND P

v v v ¥
P
< b >
tan (45- Gra/2)
042
SO Tk = X+p
~ 3685480

STEP3  FIND TessesFROM SUM OF Pi i =(1-6)

Pi

IF Lbl = 0 cm.
Z] = 20 cm.

P1
IF Lb2 = 0 cm.
2 = 40 o¢m

B2
IF Lb3 = 0 cm
23 = 60 cm.

P3
IF L4 = 5 cm,
74 = 80 om

P4

K*((0.5%y*h2")Hq*h2))

1303831 g/em

glem

2*tanQe>Lbi*(YZi + )

0.00 * tan(be

0.00 * tan¢e

0.00 * tan(be

5950.38 * tanQe

g/cm

g/em

g/cm

g/lem

196
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IF LbS = 24 cm.
Z5 = 100 cm.
| Ps = 3016502 * tande  giem
IF Lb6 = 40 cm,
Z = 120 cm.
P6 = 5294703 * tande g/em
SO Teemsce =  PI+P2tP3+P4+P5+P6 = 8906243 * tande giom
STEP4 FROM TEST IN LABORATORY o = 39.7
¢e S 37.9
tan¢e = b tan¢
b = tanPe = 0778479
tand) 0.830216
b = 0.94
S0 tan(be = 0.94 tan¢ —@
SIEPR S
Trosistance = Tr
89062.43 * tanfe =  36854.80
tan¢e = 0.41
FROMEq. (1)  wnfe = 0.94 tanf) = o4
tand) = 0.44
()] = 2381 Degree



S0

22.53

Degree

198

= 094 * tan 23.81
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TEST NO. 5§
CASE GEOTEXTILE 6-20-80

SIEP 1 ASSUME F.S.

IF CHOOSEFS.= 23
) = 397
23 = tand = tam39t
tan(m tan¢ym
(l)m S 19,75 Degree
STEP2 DRAW FORCE DIAGRAM TOEIND FORCE (X=Tx-P)
FIND X
X B = 47  Degree
h = 1125 om
i ¥ = 16 gem
R Q = 6710000 g
q - 2 gam
hi = 525  om.
B+dm = 6675 h2 = 60 cm.
b = 80 cm.
X = w = 81692.93
tan(¢m + l3) 2.33

X = 35089.76 g/em



FIND P

v vV Vv ¥
P
h2
< B >
K = tan@5Qm2)
-~ 049

SO T =.  X+P
= 62615.59

STEP 3 FIND Trmimsocs FROM SUM OF Pi  i=(1-6)

FOR

Pi
IF Lbl = 0 cm.
2l = 20 cm.

Pl
IF Lb2 = 0 cm
2 = 40 cm

2
IF Lb3 = 0 cm
23 = 60 cm.

P3
IF Lbd = 30 om.
4 = 80 om.

P4

K*((0.5*y*h2")+(q*h2))

2752583 pg/em

g/lcm

2*tan{e*Lbi*(YZi + ¢)

0.00 * tan{e

0.00 * tand)c

0.00 * tan(be

60643.45 * tanQe

g/cm

g/cm

g/cm

g/cm



IF Lbs

SO Tresistance

I

STEP 4 FROM TEST IN LABORATORY

Tresistance

185938.35 * tane

60 cm.
100 cm.
PS5 = 12529490 * tanfe
0 cm.
120 cm.
P6 = 000 * tan¢e
P1+P2+P3+P4+P5+P6 = 18593835 * tan(e
¢ = 39.7
be = 379
tane = > tand)
= tande = 0778479
tan() 0.830216
= 0.94
tand)c = 094 tan¢
= Tr
= 62615.59
tm¢e = 0.34
= 0.94 tand) - 0.34
tand) = 0.36
¢ = 1975  Degree

. 201

g/cm

g/cm



STEP 6

SO

COMPARE

tanQem

h

0.94 tm¢m

18.65

Degree

202

= 094* tan 19.75



TEST NO. 6

CASE GEOGRID 4-30-60

SIEP1 ASSUME F.S.

IF CHOOSEF .S, =

¢

203

SIEP2 DRAW FORCE DIAGRAM TO FIND FORCE(Tw)

Tr

B+dm = 69.23

STEP3 FIND Treimuow FROM SUM OFPi i =(i-4]

FOR
¢ £3
b

ot

!

Ob

1.5
39.7
1.5 =  tmp =  tan397
tan¢m tan¢m
d)m = 29.23  Degree
= 40 Degree
h = 115  om.
3
¥ = 167 gem
Q = 1090000 g
q - 14248 gem
Tr = h*tanP(yh+2q) = 4603048
2* tan(m + [3) 5.27
=  8NBLI7 gom
Pi = 20ts*tan(e*Lbi*(YZi + q) + Ob*t*G b*n
= 0.54
= 0.38
= 0.27

= 25 (YZi+q) = 41.75Zi +  3562,09



IF Lbl =

IF Lb3

3 =

P3

IF Lb4

P4

STEP 4 FROM TEST IN LABORATORY

0 cm. n =

30 om

0.00* tane+ 000 gem

10 <m, n = 1

60 cm,

2620.98* tanfe+ 62248 g/em

30 com. n = 2
%  cm.

9486.19* tan{e+ 150198 g/cm

0 cm. n = 0

120  cm.

0.00* tane+ 000 g/em

P1+P2+P3+P4
12107.17* tanQe+ 2124.46 g/om
) = 39.7
¢e = 39
= b tan()
=  tnpe = 080978
tan() 0.83022
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STER 5
Trevistance = Tr
1210717 * tane+ 212446 = 873117
wnde = 0.55
roMEq (1) tanbe = 098 tand) - 055
an = 0.56
() = 2923 Degree
STEP6 COMPARE ¢ WITH ¢m
bw - b
2923 = 2923 .. OK......
tandem = 098 tanpm = 098 * tan 2923
bem = 2873 Degree = .. OK......



TEST NO. 7
CASE GEOGRID 4-30-80

SIEP 1 ASSUME F.S.
IF CHOOSE F.S. =

o -

L5
39.7

1.5

dm

i

tan@ym

2949  Degree

il

SIEP2 DRAW FORCE DIAGRAM TO FIND FORCE (X=Tz-P)

FIND X

B+m = 7549

il

I

!

W

46
115

1.67

6710000

877.12

60
55
80

tan((bm + B)

21094.15

g/cm

g

g

g

206
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3.86



FIND P
Y Y vy ¢
P = K*((05*Y*h2)+(q*h2)

h2 = 17270.82 g/em

b
K = tan(45- Qm2)

= 0.34
SO Tr = X+tP
= 3836497 g/em

STER3 FIND Trmiszcs FROM SUM OF Pi i=(1-4)

FOR
Qs
ob

IF Lb2

P2

IF Lb3

P3

Pi

= 20ts*tan(e*Lbi*(YZi + q) + Cb*t*C"b*n

0.54
0.38
0.27
25 (YZitq) = 4175Zi + 21928.10
0 cm. n = 0
30 om.

0.00 * tanPe+ 000 g/em

5 cm. n = 0
60  cm.
527755 * tanPe+ 000 goem

45 cm. n = 3

90 cm.
49932.82 * tanfe+ 7906.029 g/cm
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IF L4 = 0 Cm. n = 0

4 = 120 cm.
P4 = 0.00* tanPe+  0.00 g/cm
SO Trwmme =  PI+P24P3+P4
= 55210.37* tanQe+ 7906.03 g/em
STEP4 FROM TEST IN LABORATORY i) = 39.7
e = 39
ane = t tand)
& =  tane = 030978
tand) 0.83022
b = 0.98
SO tanpe = 0.98 tand) @

STER 3
Trusistance = Tx
552104 * tanQe+ 790603 = 383650
e = 055
FROM Eq. @ tanfe = 0,98 tan() = 0.55
wmdp = 057
¢ = 2949 Degree



STER 6

COMPARE

tanQem

¢ WITH ¢m

¢

29.49

]

0.98 tan(i)m

29.00 Degree

098 *

--------

-------

-------
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TEST NO. 8
CASE GEOGRID 6-20-60

SIEP 1 ASSUME F.S.

IFCHOOSEFS.= 18
(0 = 397
18 = wand = am97
tanfm tanQm
Pm = 2530 Degree

STEP2 DRAW FORCE DIAGRAM TO FIND FORCE (X=Tx-P)

FIND X

X B - 37  Degree
h = 120 e,

W Y = L7 gom
R Q = 4260000 g

q = 55686 g/em’
hi = 60  om.
B+dm = 6230 h2 2 60  om
b = 67 cm.

X = w = 4828170
tan((bm + [3) 1.90

X = 2535069 g/em



FIND P

Y Vv ¥
)
b
K =  tan'(45 Gm2)
= 040
SO Tr =

STEP2 FIND Trmistaocs FROM SUM OF Pi

FOR
Ols
b

t

r

cb

IF Lbl
Zl
Pi

IF Lb2

Pi

P = K¥((0.54*h2)Hq*h)
= 14611.62 pfom
X+P
39962.31 g/cm
i=(1-6)

= 20s*tanQe*Lbi*(YZi + q) + Ob*t*C b*n

0.54
0.38
0.27

25 (YZi+q)

0 cm.
20 cm.
0.00 * _tand)e+

0 cm.

40 om.
0.00 * tan¢e+

0 cm,
60 cm.
0.00 * tan(pe +

= 4175Zi + 139216
n = 0
000 pg/em
n = 0
0.00 p/em
n = 0
0.00 g/cm
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IF Lbd = 10

cm, n =
4 = 80 om.
P4 = 7457% tanfe+ 177004 g/em
IF Lbs = 26 om n =
5 = 100 cm.
Ps = 20326.07* tane+ 371342 g/em
IF Lb6 = 42 em. “'n =
z6 = 120 cm,
P6 = 34349.44% tanfe+  5827.14 g/em
SO Teiwww =  PI+P2+P3+P4+PS+PS
= 62132.50* tan{e+ 1131159
STEP 4 FROM TEST IN LABORATORY ) =
¢ =
e = fo tan)
b = tan¢e = 0.80978
tan) 083022
v = 0.98
SO tanfe = 0.98 tand)

212
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STEP 6

Trovistsace

62132.50 * tanQe+

COMPARE

213

= Tr
11316 = 3996231
tan¢e = 0.46
= 0.98 tand) - 0.46
tan¢ 4 0.47
(] = 2530 Degree
¢ WITH ¢m
bn = h
2530 = 2530 ... OK......
0.98 tanpm = 098 * tan 2530
2486 Degree ... OK.......
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TEST NO. 9
CASE  GEOGRID 6-20-80

STEP 1 ASSUME F.S.

IFCHOOSEFS.= 19
¢ = 397
1.9 = wd = (an397

tan(bm ' tan(bm
¢m = 2402 Degree

SIEP2 DRAW FORCE DIAGRAM TO FIND FORCE (X=Tz-P)

FIND X
X B = 46 Degree
h = 117.5 cm
W ¥ - 167 glm’
R Q = L1E+07 g
q = 148366 glom’
ht = 57.5 cm
B+bm = 70.02 h2 - 6 o
b = 80 cm
X = W = 13093391
tan(Qm + ) 275

X = 4760591 g/cm
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P = K%(0.5%y*n2 ) Hq*h2)
= 3878126 glem
X+P
86387.17 g/em
i=(1-6)

= 20s*tan{e*Lbi*(YZi+ q) + Ob*t*C ' b*n

FIND P
v V¥ v
h2
< B
2
K = tan (45 $m2)
= 0.42
SO Tr =
STER3 FIND Trmsane FROM SUM OF Pi
.FOR Pi
s = 0.54
Cb = 0.38
t = 0.27
o = 25 (yZi+q)
IF Lbl = 0 cm.
Zl = 20 om.
Pl = 0.00 * tm¢e+
IF Lb2 = 0 ocm
2 = 40 - cm,
P - 0.00 * tande +
IF Lb3 = 0 om
Z3 = 60 om.
P3 = 0.00 * tm¢e+

- 4752 +  37091.50
n = 0

0.00 g/em

n 23 0

000 gfem

n = 0

0.00 g/em



IF Lb4 = 30 cm. n =
24 = 80 cm.
P4 = 52399.23* tanfe+ 829654 p/em
IF Lb5 = 55 o, n =
Zs = 100 cm,
P5 = 98049.21* tan()e+ 12701.83 g/em
IF Lb6 = 0 om n =
6 = 120 cm.
P6 = 0.00* tand)e+ 000 g/cm
SO Tessuse =  PI+P2+P3+P4+P5+P6
= 150448 tan(pe+ 20998.374
STEP4 FROM TEST IN LABORATORY () =
g -
tande = b tand)
b = tanbe = 080978
tanQ) 0.83022
b = 0.98
SO tand)e =- 0.98 tan¢

216
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STEP S
Tresisiance = Tr
150448.44 * tan(e+ 2099837 =  86387.17
tan¢e = 043
FROM Eq. @ tane = 0.98 tan(p - 0.43
tand = 0.45
) = 2402 Degree
SIEP 6 COMPARE ¢ WITH {m
gm = ¢
2402 = 2402 e OK.
tanpem = 0.98 tanQm = 0%8* fn 240
$em - 2359 Degree s oK.
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